ERRERARDS

RRSIRIRT — I \—

ABISH—F

2025578215 (B) 70{k&E4H

2i%— 24 YSR2R ‘ (X&) — ‘ EZ=) 15:00‘ S—k 13000 —
[(A&%] 135 : 600,000  25& : 192,000 ~ 3j& : 108,000 435 : 72,000  53& : 48,000
%5 FRERS /M 1 %2 17EHT 27ERI 3%ERT
e d 1 2 /B b( b i) 7 12025/6/29 58 412025/6/14 {£& 5 12025/5/17 {£&
Q] W—S— 7 HuEaEEE (4.0 f%l 5% <1300 B 4 A‘sr 1300 RE 5% 5900 FE
11 8] #«Z7T780L 0-0-0-3 g 28— 14 28— 14 2—IN\—K—F 7T 21— 21
83 = =71 )5g roro Fraareh | g, as | iaadn | e as | Saad
WA~ 1 572,05 - S - SERUNvry | SEE-  oAADTEa— | SER - UxYDs-U7P
'~ 2 /5 allliE
NI F v A REEL (54.0) == 5 900 FE
K] Ly RIT7ILIZ 0-0-0-0 R — : 2%
A 2| (8] JOvoFT—Y 0-0-0-1 S s 2—)N—HK—FTWFE1— 2
1 L—=5—-YyF 0000 L0 e wre ?
204 mEY Y —t—)L 1% 88.05F - }e&:_ rJ RYFY—0O
T 2 ShERLF
E—E—-3 _)IJI\ EIFE (55.0) [0=5) 3 A| 5 900
K] Z74Y=—RIL 0-0-0-0 IR c —p
3 BRG R 0-0-1-0 A 2—IN—h—FTVFE1— 2
B IET72A7 0-0-0-0 = glﬁ(oj) 0 682—2 37.3
2024ELEEYY—E—IU 15 330,058 - S}E%ﬁﬁﬁ 65?!17?19"2‘/#“
9‘u FTOITE/ 2 / e 4
8 Za—x9za7 4 sl e (= 555 8
4 0-0-0-1 Rz Z—/S—h—F 7T 21— 25
5] 72‘“ 7I9I 0-0-0-0 SIS 57.0(1.8) 44 382
R] PIRRFII )L (USA) v WO (54.0) 482 —
S - FULPULIIUR
w3 -5 2 R BA—X 2025/6/28
PR s T 431758 ™
Rl J7 -9-0- i Y FE
55| (8] 9505797 0-0-0-1 ﬁsﬁfg Za—l\—m—j’jlln—tl—Zﬂ
8] TSy Ih—7 (B 0-0-0-0 o a0, a2
20256 J RATU—X7 v FE—IU 28 495.058 SiE: - TFULTFULIYIVR
L©—ISZART v 2 B ek 7 12025/6/26 £ 412025/6/14 {£& 5 12025/5/31 {£&
2] Fr ot Ng#(54.0 [0 6 Al 1400 2 6 /\‘5" 1300 FE 5 Als 900 B
W 6| [m] A-T/52rTO— 0-0-0-3 Qgﬁg% OinJE)C hT Uﬁsh;J%)C hc n'mfzx)—/f—m—ﬁw?e:
35S = ~ -0-0~ 1:37.6(3.3 9-9-9-6 43.8 1:31.4(3.1 8-8-7-6 44.4 58.6(1.3 8-7 39.2
8] 23—k77b3v 000 JIBIE (64.0) 4134 JIBIE (54.0) 41741 B (54.0) 416 —
S - IA EI—:::\:‘ S — Z—yAhSF9197 | SEH- Av/O4
5 15 2 /B TURE
T'fIA"j’j}j'f l\ IS5 (55.0) (1&";")A 4 A5 900 R
R] 9A4VTS5A~ 0-0-0-0 TEER 3
8] NvarFh -0-0-1 e =
217\ @ 002 e ZSGBT T
8] FAPITTRY 0-0-00 TIF (55.0) 401 —
204 BEY Y —t—)U 1% 627.058 (S URyS4—U7
i v 2 TURE
9’(%’(/7"\)[/ . Al 1ERF (55.0) ({EE)A 3 A5 900 Z{E
8!8 K] WIFYAL— 0-0-0-0 =45 ¢
B] TAYYFVF 0-0-1-0 S e Z2—N—HK—FINFE1—2H
e roeoe ZiteR 5.0 4832—2 9
04EHES Y ——IU 15 1870.05F - SEH—  NURYFY—O
¥1-- [HEE/ER] [BF (TE) | HEERE (- B) | [RE—NIER x2-- [#BEE PRl KXl [EERE]




ERRRROBERERT —I N—RBISH—F

2025578218 (R) 70{f&4H

@ XJHiER
L—2@® L—2@ L—2B L—2@
20255 6H28H 20255 6H15H 20255 58178
e IR0 RI | [RI90 I KR 0 [RI90 | R
2—N—R—FITIWFE1—| R—IN—h—FTIFE 21— | R—N—Kh—FTILFE 21—
2ES 2RHE 2iEHS
55.2 55.5 57.4
1MUad/bY b - - 5% | 59.4 | 54.0 -
2| NIAYFvA = 5% | 57.9 ] 51.0 - -
3| E—FE—J—-ILR 37 155.7155.0 - - -
4| FYvTFIRTE/ 5% | 57.0 | 54.0 - - =
5| ELyIF4I—5 47& | 56.5 | 54.0 - - -
6| L—YIXZART v b - = = =
7| TAILYHSA - - 47 | 58.9 ] 55.0 -
8| FAXA/KIL - 3% 156.355.0 - -
@ F591 L
{28 5"1300M 513000 Z DAt
11 YUad / k<Y b 1:28.1 | B | 2025%6A29H 59.4 | AR | £'900Mm | 2025558178 | &8
2 /\“‘/ﬁy?’-tj’ 57.9 | AR | 9000 | 2025568158 | {2
3| E=E—J-ILR 55.7 | B2 | 5'900M | 20255E65 28 | &8
4| ST IOITE/ 57.0 | B2 | 5°900M | 2025665288 | £
5| ELyITF4I-35 56.5 | B2 | 5°900M | 20252567288 | 25
6 A—)/\C’Zﬂ'{’ﬁ'\y ~ 1:31.4 | AR | 20258648148 1:37.6 | E | 5'1400M | 2025568268 | {£&
7\ TAILYHSA ~ 58.9 | RE2 | 5'900N | 2025558178 | $52
8| A XA HRIV 56.3 | AR | 5900 | 202556158 | £
0 BEE &a/REIAL
ez %1 4B =it 18
L—2# BREIML REIAL L—RAH &
=] 17 1:21.2 | 1:25.9 192 1:21.2 | 1:28.7
HE 2 1:24.5 | 1:25.0 64 1:21.2 | 1:28.4
2] 4 1:22.7 | 1:25.1 54 1:22.6 | 1:27.8
B 0 61 1:21.5 | 1:28.3




